T

(71

3 chairs and 2 tables costs ¥ 700 and 5 chairs
and 3 tables cost ¥1100. The cost of one chair is :

(a) ¥ 100 O (b %110 Q
(© %20 Q @ % 150 Q

[7].

( : —_
r : : - v ; )
POLYTECHNIC ENTRANCE EXAMINATION (2014-2015)
qifereferer Wa9T THET (2014-2015)
. b)
"l MEMORY BASED QUESTIONS
MATHEMATICS (=rfura) ,\)
[1. Whatis the value of 0.57 : (1. 057 %1 aF 2: Q
@ = omZ o % o
© 0@ 2% o o
[2]. 12348 is: 21 .
(@) Aninteger Q Q
(b) A rational number ®) Q
(¢) Anirrational number o ®)
‘ (d) None of these @ T ¥ FrE T )
[3]. Value of k for which (x - 1) is a factor of (& Bl AR (x-1), (62~ k) F OETS @ Ak H AH
is: & o e T »
(@) 8 O ®1 x @ 8 O b1 o
© -1 - O -8 © -1 O (d) -8 Q
[4]. If three pieces of timber and 63m | [4]. T olahsl & &9 Zﬁ% et oETE 42 m, 49 m
long to be divided into same length. T 63 m e H THTT TS & WHE T e 2
The greatest possible Q‘ p}ank will be: W W e 4 vaTEr erd g '
(@ 9m (@ 9m Q (b 7m Q
() 6m (d) 11 m (¢ 6m O (@ 1lm Q
[51. - If o, ? @ zeros of the polynomial | [5]. aiga, B, y"@lE'Tt'{ -6 -x+30H V[WF:E oA
2> x°—6x*- £+ 30, ten the value of (af + Py +ya) is :  (af + By + ya) T W BIA:
@ -1 C om1 o} @ -1 QO b1 Q
(0 -5 O (@ 30 ' O (© -5 Q (@ 30 0
(6. I£3* Y=9and3%*¥ =81, thenvalueofyis: | [6]. FE3* P =933"" ¥ =81, 79 ywr w1 &M
@ 1 Q (b 2 O (@ 1 QO b 2 Qo
(© 3 Q (d) 4 o} © 3 O @ 4 o

3 et aftc 2 U gew T 700 % 5 wEl i
33 1 TeE T 1100 E, a}@@dfm{mm
(@ % 100 Q (b) T 110 o)
(© %20 Q (@ T 150 o

(1]
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(91

[10].

[11].

[12].

(13].

(14].

[15}.

[16].

[17].

The system of equations 2x+ 3y=5and 4x+ ky = 10
has an infinite number of solutions if k is equal
to:

(@ 1 Q (b) 6 o
() 3 Q@o Q
The graph of linear equation is always :

(a) Circle O (b) Parabola o

(c) Straightline O (d) None of these 0]

For what value of k will kx +2y=5and 3x+y =1
have unique solution :

@ k=-6 O () k=6 o)
© k=6 O d) k=2 o)

The value of p for which the equation px® + 4x +
1=0has real roots is :

(@ p<4 O b)p=4 Q
© p<4 O @ p}:l Q

If the equation x* + 2(k + 2)x + 9k = 0 has equal
roots, the value of k are :

(@ 1,4 O ®-1,4 o
(€ 1,4 QW-1,-4 Q

The product of the roots of equation px* + qx+r
=0will be:

F P
(a) q O @ 7

r -
© 5 oW x
The roots of the quadratic equation (GSO =0:
(@ 10,4 O(b)64 x O

(€) 10,40 O Q
If the root of ax® + bx equal then the

valueof cis:

(@ 2 . o
O 0 (d) e o
Determm sothat2m+1,m+1,-m + 3 are in
AP.:

@@ 1 O ()2 Q

© 3 O ) -2 Q
The sum of n natural numbers is :

n n2 1

(@ -2-(n+1) O (b 5 Q
© (m+2) 0 (d) %(n+1) o)

(8l

[9l.
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[11].

12].

13

[14].

[15].

[16].

[17].
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= Rk etimbnlui el B ittt L AL M Wi S bl L4

Wl e 2x + 3y =53 dx + ky=10

I ¥ g afE k=1 A g

(@ 1 O ()6 , o
© 3 Q@o 0
fortlt oft g writacor =1 anerE s ET R
@ T Q (b) T Q
©) &« YEn OWdezHasEadl O

ke form o R fag wdftemtor kx + 2y = 5 3
3x +y =1 T AfGT T 2:

(a) k=-6 O (b)k=6 Q
© k=6 O @ k=2 Q
px2+4x+1=03‘~7'q‘§1 z?a‘rpmrm
E1R

(@) p<4

© p<4

I&\W -
dp=1 0
ﬂﬁm(kn)xwk:oéwm

o

O @) -1,4 0
O (d) -1,-4 o)

px+ qx +r=0%h el & TUTEA

@ & o m o
© 5 o (d):,; [
fama wfteRor x® —6x-40=03 Y& ¥

(& 10,4 Q (b) 6,40 Q
(© 10,40 O ) -6,4 0O

WHEFT ax’ + bx +c= 0% T TAF & @ cHT
T T

@ 32 OB o= o
12 » 2 .
© oL o

m BT U G0 AR 2m + 1, m + 1, = + 3 AT
Soft W :

@) 1 Q ()2 o)

© 3 O -2 O
n n®

@ Fm+) o % o

© (n+2) 0 @ %(n+1) o
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[18].

[19].

[20].

[21].

[22].

[23].

[24].

{25].

[26].

(© 4y

Arithmetic mean between 5 and -15is:

(@ -5 O (b) -4 O
© -3 O @ -1 O
The value of sin” 30° + cos? 90° is :

O (b) -4 o

@ 7

~1 1 :
© vy O @ 5 O
If sin9=—"—?‘ and 1/(n2 -m?) =1,thentan 0 is
equalto:

2 __2

@) _("z_m) O (b)m o

n o w L= 5
© 7 @ 3 |

A man standing in the sun finds that his shadow
is equal to his height. The angle of elevation of
the sun at that time :

@) 120° O (b) 90° ' 0
(© 45° Q (d) 60° o

If tan 0 + sin 0 = x and tan 8 - sin 8 = y, then
«*-y’isequalto:

@ Jry Q (b 2/xy

Q (d) xy

(gﬁgle

A pole of light 50 m high from w

of depression of a ship is 30°, nce of
the ship from the pole is:

(@ 50m Qo m Q

5

(©) 150 m Sm o
Distance of from x-axis is :

(@ 4 QO (b)a Q
©) a O ) a®+16 o

The points (-2, 5), (3, —4) and (7, 10) are the
vertices of the triangle :

(a) Equilateral QO (b) Acute angled O
(c) Rightangled O (d) Isosceles O
The distance between (-1, a) and (5, 5) is 10,
thenais:
(@ -3o0rl13
© -7, 11

O (b) Bori2 o
O ) -8,-12 O

[18]. 5 3T -15 Wea WHrAT WILH I :
(@ -5 Q (b -4 0
© -3 0@ -1 o
[19]. sin®30° + cos? 90° T WT 2 :
@ 7 Q (b) -4 O
-1 1
© 7 Q) 5 fe}
[20]. =fy sinez% AT [(n? —m?) = 1,ajtanew
HH : P '
; 2 2
@) —V("z_m) o QV Q
(©) % | O
[21]. TF TS éﬂﬁ@m%a‘a‘w%m

BT & SR § A gd & a9
T ghm :

O () 90° 0

QO (d) 60° o}

| 4 tan 0+ sin 0 =x 3 tan 0 -sin O =y, A > —¢° .
T WA A0 :
i @ (@ Jxy O ®) 2/ry Q

© 4xy QO (d) xy o}
[23]. T WeRTyT Wew forgant sts 50 i, 2 aur faae
IS ¥ FETS & AGTHF RV 30° F| FETSH

Wy @ T e

(a) 50 . Q (b) 5043 . 0

(€) 150 . Q () % .. o)
[24]. T (a, ) F x-HT A GH 2

(@) 4 Q ()a O

© a+4 QO (d) Ja® +16 o
[25]. fo(-2,5), /" -4) @41 (7, 10) Feqw & vird &

(@ gHEg f5 9 O (b) =gF=tw B o)

© "= g9 QO (d) wHfgemg By Q
[26). fergall (-1, ) 3R (5,5) ST w 10T W a

wTHE R
(@) -3a113 O () -5a12 o)
() -7,11 O () -8,-12 @]
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[32].

[33].

[34].
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[28].

" (¢) Unequal
[31].

In Figure ZBDA =90°, AB = 50 cm, AD =30 cm,
AC =34 cm, then measure of side BCis :
A

(@) 56cm 0

(b) 60 cm Q 50 34
{c) 40cm o

(d) 16 cm ®) B D c

A ladder can reach a height 20 m of a wall and
lower part is at a horizontal distance 15 m from
the wall. Then length of the ladderis:

(@) 35m O (b) 5m o)
(© 25m Q (d) 625m o

The angle B of a triangle is 90°, AC=4 cm and D
is the mid point of AC, then length of BD is:

Q (b) 2cm Q
O d 1cm 0
Chords equidistant from the centre are :
O (b) Parallel

O (d) None of these

In the figure below, the
valueof x:

(a) 4cm

(© 3cm

(a) Equal

@) 120° o}
(b) 80° 0
© 55° Q e

(d) (110 -x)°

Two angles subte
segment are :

Q
q@) n arc on the same

(@) Alwaysa (b) Equal Q
(0 Alway, e Q (d) Notequal 0]
In figure 1AB,OA=5cm, OC=3¢m,
then ésj alto:

(@ 6 o

(b) 4cm Q

(c) 8cm Q

(d) 5cm 0

The sum of opposite angle of a quadrilateral is:
(a) 160° O (b) 180° Q
(©) 240° QO (d) 360° o

The number of tangents drawn from a point
outside acircleis:

(@ 1
© 0

O M3 _ o
O @2 o

[27]. faT ¥ ZBDA = 90°, AB = 50 &, AD = 30 9,
AC =34 Q%it,, @Y ST BC ! WIQ g1t : R

(a) 56 |t Q

(b) 60 T Q 50 34

(©) 40 9+t o)

d) 16 ¥t 0 R —
[28]. U WiEt HAW uT 20 H, W FoME q* uge ¢

R smer freer AR ¥ dfqw foom o

159, ® T wE T e

(a) 35 . O )(b) 5 o}

(c) 25 %@ (d) 625 . Q
[29]. frqm 7 90° T §1 AC = 4 9T, 3 D,

21 @@ BD it erad gl

AC
(
1.

' % O (b) 2% 0
. O (@) 19 Q

[ R} wur g W e

o2

‘ :r

() = QO (b) WHMIRR o)

(©) eFEam O@TFEIFET O
(31). few e faa & xwr W 2 A
(a) 120° o S
(b) 80° Q A
© 55° o AN
d) (110 -x)° o}
[32]. =T ERT SY Y TH & WUS § F H0I:
(@) T =EFHIV O (b) THA o}
© Wa AfuFwor O (d) F9H @Y Q
(33]. fex &, OC LAB, OA =59, OC =3 &, gt ar
AB &I |E BN :
(a) 6. - O
(b) 45H. 0
(c) 8. O
d) 5. o} .
[34]. I TS & WRLE HIVI HT G EET R
@) 160° O () 180° Q
© 240° O (d) 360° o}
[35]. g™ & @TeY feum fwdt fag @ oi=h o wvt

@t W e gt §
(@ 1 O (3 o)
(© 0 O 2 O
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[40].

[41).

4

[42].

[43].

[44].

[361.

{371

[38].

[39].

A square and a triangle each h ua
/ the ratio of their area is : § ;

PT is a tangent to the circle. If AP = 4 cm,
AB =12 cm, then PTis:
T

(a) 4cm ®)

(b) 6 cm o

() 8cm o

(d 12em o N Atem?
Centroid is the point of intersection of the :

(@) Altitudes Q
(b) Medians 0
(c) Perpendicular bisectors @]
(d) None of these O

If two diameters of a circle cut each other at right
angle then the figure formed by joining the
extreme points of the diameter will be :

(@) Square Q (b) Rectangle Q
(c) Circle Q () Triangle Q

If area of a triangle is 48 cm® and base is 12 cm,
then find the altitude:

(@ 10cm QO (b) 12cm @)
() 8cm O ) 15¢em

A room is 30 m long. The cost of carpeting at
? 2 per sq. m is ¥1200. The width of the roo

3
«ﬁ@

(@ 20m Q () 25m
des a,

() 12m O () 15m

@ o
© 4:v3 0
If the perlmete gular field i is 200 m
and its bread , then its area (m?) is:

(a) 4800 (b) 2400 @)
(© 120 O (d) 6000 Q
The number of revolutions that a wheel of
diameter “121‘ m will make in going4kmi is:

(a) 3000 Q (b) 2500 Q
(¢) 1700 Q (d) 2000 o

Length of longest rod that can be placed in a room
of dimensions 6m x6m x 3 m:

(a) 18 m - QO (b) 20m @]
© 9m O (d)15m ' 0]
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e ——— o — m
{36].

[37].

[38].

[39].

[ 5 ]
PTYw @t el ¥@r & afe AP = 4 Awt,
AB =12 QWt, @t PT g1 :

T

(a) 49w o
®) 69 0
() g o 8 2em  JA dom P
(d) 12 9. 0 \_/
e ¥ e @ @8 fag @ § wet wew
wafgwriad gia 2
(a) Yitdferw ' Q
(b) wferRTq Q
(c) Hivi % wAfgIE 0
(d) ¥ | wIg Tl 0
wﬁmaﬁra}a} aﬁmww
méa‘ramﬁ% aﬁam’tat@ﬁ
(@ a’f (b) mad O
(c) kR %« (d) B ’ o
48 AW’ R1 afg TRt MU
TUH! FAT JA &
O (b) 12 |, 0

Q (d) 15 9. 0

(c) S@Tﬁ
HUAT 30 W, o/ 1 TAN 2% wid &t W, @
a‘tﬁaﬁﬁmaﬁww 1200 & &1 ®At @t

[41).

[(42].

[43].

(44].

e g ‘
(a) 20T Q (b) 25 . 0
(¢ 12 7. Q (d) 15 . Q

T& a1 91 T Frage & uates & Q= o e
AT T AU BT

(@) 2:1 QO by 2:V3 Q
(© 4:J3 O d4:3 o
ATTATHT QT T TRETT 200 W, 2 39at =Td
40 T, § A FIFESA (m?) TN ‘
(a) 4800 O (b) 2400 0
© 1200 O (d) 6000 o)

%ﬁ.maﬁuﬁqgm4%.tﬁ.aﬁﬁm
TG TR W WEAT B :
Q (b) 2500 Q

(@) 3000

(¢) 1700 Q (d) 2000 o}
il R S BT W e, W 67 x 67, x 37,
et wE W @ W1 W, B

(@) 18 #i} QO (b) 20 H= Q
(¢) 9¥=t O (d) 15 ¥ 0
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The perimeter of one face of a cube is 40 cm.
The volume of the cube (in cm®) is :

@) 100 Q (b) 1000 Q
(©) 800 O (d) 600 0

How many small cubes of 2 cm edge can be
made from cube of side 8 cm :

@) 64 O (b) 84 Q
© 72 O (d) 48 0

The median of the distribution 3, 7,9, 10, 12,
14 is:

(@ 7 O b9 )
(©) 95 O @ 12 0O

In a distribution, mean is 32 and the median is
34. The mode will be:

@) 38 O () 28 o)
© 36 Q. (d) 34 O
A coin is tossed. The probability of getting head
is:

i :
@ 3 o ®1 o

© 0 O (d) None of these O

girls. The probability of the student selected

[45]. ¥ @ TS W @1 GRATT 40 ¥, j1 9X @&
e (A R) g

@) 100 O (b) 1000 o}
- (&) 800 O (d) 600 o)
[46]. W& G W oge 8 WY, } 3EN ¥ 2 WH, = A
T ST TRl B
(a) 64 O (b) 84 o)
© 72 Q (d) 48 o)
[47]. TawTe 3,7, 9, 10, 12, 14 @t Hifeaen § :
@) 7 Q (b9 Q
© 9.5 Q (d) 12 Q
[48]. U WeT @l HILA MWM 1 IHHT
g EI : 6 | |
(a) 38 (b) 28 o)
(© 36 O ) 34 o)
[49]. T® rar 1 9 oY iy yrfuewar
&,

‘é o ®1 o
oO@rEHaHIT O

wefwal 21 afg W wem } U famedt ==m &t

‘: .’) 0
In a class of 12 students 5 are boys and rest are" [50]. Wer whem W 12 faemeff & food 5 W ot 9w
:r

beagirl is: 0 A AEHT H A A T YTiaSRAr gom

i |
@ 13 O@uvéi» @ o 1 o
© 3 o @ © 7 ° @3 °

Which colour of 1
the minimu

(a) Red
(© een
The

(a) Convex mirror

travels through glass w1th

O (b) Violet o]
O (d) Yellow

of amirroris atinfinity, itisa:

o

(b) Concave mirror
(¢) Plane mirror
(d) None of these

0000

Our eyes are more sensitive for which colour ?
(a) For white colour
(b) For green colour
(c) Forblack colour

0000

(d) For blue colour

gfv

[51]. Wi & e ¥ | WP W HT-W 0 FAGH
o § T ¢ .
(a) = Q (b S
© ¥ O (d) drem ‘
[52]. W TUUT H WIHT 3F+d W ¢, IE ¢
(a) S YT
(b) 3raa TdOT
() w9ae Tdu
d) ¥ | g &
{53]. WWMW%WWFWWW%
(a) % T & gfa
(b) & 1 ® wia
(© & % wfa
@) & ™+ v

o 0

-+~ 0 000

00O
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[54].

[55].

[56].

(571,

{58].

[59].

[60].

[61].

[62].

[63].

[641.

A stick put in a bucket of water appears bent :
(a) Due toreflection
(b) Due to diffraction
(c) Due torefraction

©C 00O

(d) Due to polarization

A well cut diamond appears bright due to:
(@) Itemits light

(b) Itisradioactive

(¢) Totalinternal reflection

(d) Interference of light

000

The power of a lens whose focal length is 50 cm :

(@ 125D O (b) 1.50D Q
() 1.00D Q (d) 200D Q
The human eye forms the image of an objectat it’s :
(a) Cornea Q (b) Pupil o
© Iris O (d) Retina Q
Far point for eye in humans is :

(a) At25c¢m QO (b) At25m )
() At50m O (d) Atinfinity O

In simple microscope, object is placed at points :
(@) Between lens and its focus point
(b) Between F and 2F

() Beyond 2F

(d) Anywhere

Magnifying power of compound &&pe is:
o)

mO
(@ myxm, Q (b)ﬁé
me
© m_o ®) +m, O
Which of the follo odegradable:
(a) Paper ) Aluminium bags O

(c) DD.T. (d) Plastic 0]
The potentﬁ}point is 20 V. The work done in

bringingac of 0.5 C from infinity to this point
willbe:

(@ 20] O (b 10] Q
(© 5} Q (d)40] - 0
The commercial unit of electric poweris:

(@) Volt Q (b) Watt -0
() Ampere O (d) kWh 0

Identify the one for which a.c. supply cannot be
used directly:

(@) Heating

(b) Lighting

(¢) Transforming voltage
(d) Electroplating

(é@

0000

[54]. U ¥ wrlt AR @ o B WS gF v et

[55].

[56].

[57].

[58].

[60]

[61]

[62].

[63]

[64].

(a) vfEds = wro
(b) foad= & wRO
(c) ITadT ® HRO
(d) YT % SR

¥ fe awg @ wweten foard dar .
(a) T€ YHW Ieafda wow d
() 7 Hearafrea 2

(c) ol eraftsw wwad |

(d) v % Hfawer 9

50 A, ®IwW T &

(@ 125D

(¢ 1.00D
LIECICE R

00O

o
o]
00 0000

o
B
|
4
[ol¢

O (by 25 WX W
O (d) oFd |

(O @)

5 "
(a) &9 a1 @S wwy fag F o9
(b) FAA2F& &9
() 2FR T==
(d) =+ «ft

© 00O

(@

- mO
(@ myxm, Q (b ;17

© == O (d) m,+m, o
0

. Frafafae ¥ sF-ar frefeeia uard 2.
(@) HFTS O (b) TGN & g O
(© S Q (d) wnfes Q
Tt farg =7 farviar 203 21 0.5 T amawr =
= ¥ 3w fag o @ ¥ femar W @ 2w
(@) 20 = O (b) 10 5=

© 59 O (d) 40 5=

. Tagm wifm =1 sraarfas oo @

(a) TEE O (b) =

(c) e O (d) fwarar
ﬁﬂﬁﬁmm%ma.c.mﬁﬁ
(@) =9

(b) THIEH
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[65].

{66].

[671.

[68].

[69].

{701

[71].

[72].

{a) Two

[73].

Electrical energy is transmitted at high voltages to :
Q
O

(@) Reduce losses O (b) Convert power
(© Reducelength O (d) Reduce heat
The Galvanometer is converted to Ammeter by :

(@) Using shunt of low resistance in parallel O

(b) Using coil O]
(¢) Using pipe o
(d) Using shunt in series | O
Which instrument has maximum resistance:

(a) Ammeter O (b) Voltmeter O
(¢) Galvanometer O (d) Voltaic cell O

An electric bulb marked 100 W and 400 V. Duting
consumption the resistance of its filament
would be:

(@) 1500 & O (b) 1600 Q O
() 500 Q Q (d) 600 © o

The resistance of a straight conductor does not
depend onits:

(@) Temperature

(b) Length

(c) Material

d Shape of cross-section

Find the value of the current in the circuit @
in figure:

(@) 1 Ampere Q
300
(b) 0.1 Ampere Q 2V
() 1.5 Ampere o
(d) 2 Ampere O %2 ¢ 300 B
What is relation bet etic Energy (K) and
Linear Momentu abody:
P
(@ KE.= (b) K.E.= " @)
: p?
(© K o O (d) KE.=—73 o

m

How many magnetic poles are in a current
carrying solenoid ?

O
O

O (b) Four
(c) Orme O (d) Eight

A current carrying conductor is placed in the

- magnetic field perpendicularly, then the direction

of force acting on the conductor will be :
(a) Perpendicular
(b) Parallel

O
0
(¢) Atanangle @)
O

(d) Perpendicular to conductor and field

[65].

[66].

[671.

[68].

[69].

[71].

[72].

[73].

fagga oot 3o o™ T A & WAt ¥
@ TR O () v sse 3 O

(© € WM B O (d) MY W™ B o)
JRTATET T aET ¥ aEed € :

(a) F9 vy w1 GAAICEg ¥ TR Q
(b) IR & 0
(¢) et =/ 0
(d) Sviteg w2 Tt Q
(a) R HT O (b) TreeHR HI 0
(c) YRR T d) 1 9 0
T e 9T 100 00 atee sifewma &1 wrer

| WHA IEH wire e
(@) 1500 O (b) 1600 Q Q
© 50@6 Q (d) 600 Q Q
w1 gy fier ® @ form @ ff

e

Q
e
(¢) e Q
d) STIIEIHRE F IAHX T Q

ﬁén’&v&qwﬁﬁqaammmmaﬁ

() 1T o

(b) 0.1 TfEaa Q ZVE:__ 300 300
(¢) 1.5 TR O

(d) 2 T &) ¢ 30 0 B

foret aeq ot wfes =1 (K) aﬂti‘@’taaévr(P'
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P P

(©) KE.= m O d) KE.= o Q
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€2 ‘
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© O (@) s e
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gt
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fMl Which of the metal is attracted by magnet in the
following: .
(a) Gold O (b) Silver o
() Nickel O (d) Mercury Q
{75]. Fleming's right hand rule is used in:
(a) A.C.Generator Q (b) Electric Motor Q
() D.C.Generator Q (d) (a) and (c) @)
[76]. Electromagnetic induction was discovered by :
(@) H.C.Oersted O
(b) Michal Faraday 0]
(c) James VanEllen O
(d) Thomas Edison ko)
[77). Electric supply in homes and factories is:
(a) 220 Vand 400V o
() 400 Vand 220V o
(¢©) 220Vand 440V ®)
(d) 440 Vand 220V o
{78]. Whatis the effect of heating on a magnet?
(a) Magnetism will increase O
(b) Magnetism will decrease @)
() Noeffect O]
(d) None of these
[79]. Which of the following domestic appli
contribute to ozone depletion? x
(a) Television O (b) Refriger, 6& (@]
(c) Air-cooler Q (d) He x Q
{80]. The non-conventional so &g}' is:
(a) Petrol O , o
() Diesel 0O
[81]. Which of the follo sulator
(a) Copper (b) Iron o
{c)  Plasti Q (d) Silver O
[82]. Biggqjt was coined by which one of the
folloiing srientist ?
(a) RoB&rtHook O (b) Faraday - O
(©) Nicolus O (d) Hubble 6]
[83]. Biogas is prepared from:
(a) Petrol QO (b Kerosene 0]
() LPG Q (d) Biomass ®)
[84]. Solar cellis used in:
(a) Watches Q (b) Radios o)
(c) Motors Q (d) Engines Q

[74], P ¥ ¥ TRE 9Ig W S[EE RS FA L
(@) T O () I 0
© fa Q (d) R 0
[751. wfi & e T & Praw w1 SuET w2
@ AC.vR&ZE O () foem e o o
© DC.vR&EA O (d (a) & (c) B A 0
[76]. e Srad UTUT R @I W ot
@) T W =T o}
) wEEHa BT o)
(© = 37 T Q
(d) o gEtEA o)
[77]1. =AY it sEr ® 9 Tt 2
(a) 220V 3400V o)
(1) 400V 3iR22 0
© 220V~ﬁ@ o)
@ 440@ o
(78]. T % T(awE T R YA U § ?
G WA 0
w2 A Q
(€ ®IE v & o)
d) 7 | w1 T o)
7o), Fror ¥ ¥ e W IR ® WA A A T
W&W’T'@W%:
(a) effasH O () rs= 0
(© =T 0O (@ @ o
[80]. T B SNUNERITA Fid T AW T :
() g Q (b) I o
(© o O @) "~ O
(81). BT ¥ A murew B
(a) s O (b) @& o}
(€ s 0 @ I o)
(82). “Fam-dn fagr & Tl 4 2 '
@) T TF O (b) R o)
(© Frevea 0@ T o)
[83]. wrarie ferwd daw @ W ¥
(@) O (b) fuzdt %1 a4 Qo
(€ TEALS QO (d) s o)
[84]. WreR ¥ @ wAT w2
(a) wfgal & o @) e & Q
© = o O (d ¥ A o)
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[85]. Heating effect of sunlight is due to the presence
of::

(a) Infra-redrays O (b) Ultravioletrays O

() X-rays O (d) Gamma rays Q

[86]. Which of the following is an example of fossil fuel ?
Q (b) Coke O]
O (d) Producer gas 0]

[87]. Solarenergy is the effect of :

(@) Coal gas
() Natural gas

(a) Thermal agitation Q
(b) Nuclear fission Q
(©) Radiqactivity 0]
(d) Nuclear fusion O

[88]. The first nuclearreactor of Indiais:

(a) Urvashi "Q (b) Apsara o

(¢) Kamini O (d) Rohini O
[89]. The name of massless neutral sub-atomic particle

inanatomis:

(a) Neutron Q (b) Proton o

(¢) Neutrino Q (d) Positron
[90]. Green house effect can be minimised by :

(a) Pisciculture O (b) Agriculture O
O (d) All these'l

{c) Silviculture

[91]. Oxidation is the process in which fisubsfance :

(a) Gains hydrogen O

(b) Gains oxygen & ®)

{¢) Gains electrons x Q

{d) None of these O

[92]. Complete the fgllqgwingthemical equation:

Cu(NO,),

(a) +Zn0O, O

(b) +2NO, O

(NO;), +Cu Q

o

; i
Q onte of these
[93]. ft is a reaction in which one substance is

xidised and other is reduced is known as :
(a) Oxidation reaction
(b) Reduction

(¢) Redox-reaction

0000

(d) Reducingagent

[94]. Which of the following did not disturb the
equilibrium point ?

(@) Catalyst
(c) Pressure _

O (b) Temperature Q
QO (d) Concentration Q

[85].

{86l

[871.

[88].

0].

[91].

921,

[93].

[94].

gd & gy & A9 gure faws @ gt

2 :
(@) ¥t favdt O (b) WETH feeol C

(c) X-favol Q (d) T feeol C
frreafafaa ¥ | wi=-91 Starn $aq 2:

(@) H O (b) F% C
() wrpfa® 9 O (d) yregm 9 C
ﬁ'rmm‘uﬁum%

(a) 9T =1 C
(b) TETa fagved & e
() et C
d) frs C
(a) Q (b) I C
(c O (d) Tfeod e

[89@ T, oAy ted o it ae W 8
Q( =g O (b) Wi C

(c) =gt O (d) wrfigH ¢

T FTSH UHTT &l HH & Tohdl B :

(a) HSE TEE B Q (b) T AT W Q

(© 98w g O (d) 3Wis 0 C

atferdtartor @8 wfwar ¥, faad .

(@) e et 2

() SFdeA @

(© TREM a2

d) 7° | % T ,

fr wrratTs Tt @t gu i

Cu(NO,), + Zn—>

(@) —> CuNO; +ZnO;, C

(b) —> ZnCu +2NO;, . (

() —> Zn(NO;), +Cu (
‘ ¢

&

NN NN

d) = @ =

I T @ F wea € foud ww uered
JTEASHTUT TAT TAY T TLHTUT Bl &
(a) STaRdteRToT foRan

(b) TEETT

(¢ Tem fma

(d) TIFRF

Frefafaa ¥ @ o wma fag W aren T srer
%2

(a) IR O (b) I (
() ¥ Q (d) giga (

NN N
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e =

[951.

[961.

[971.

{98l

[99].

[100].

[101].

[102].

{103].

[104].

[105].

The‘memdded to gold to make jewellery

Which of the following turns red litmus blue::

(@) Acids QO (b) Bases O
(c) Salts O (d) None of these O
Which of the following salt solution is neutral :
(@) NaCl O () NH,1 Q
() CH,COONa QO (d) All of these @]
The chemical formula of bleaching power s :

(@) CaOCl QO (b) CaOC(l, o
(0 CaCL,HO O (d) CaO,Ch, o
Which of the following is adry ice:

(@) Ice Q (b) Solid SO, Q
(¢) Solid CO, O (d) NaCl o

Which of the following non-metals is a good
conductor of electricity ?

(a) Graphite O (b) Iodine
(c) Diamond Q (d) Bromine

Sulphide ores of copper are separated from the
gangue particles by using:

O
O

O
o

(@) Itislighter than hydrogen
() Itis non combustible
s found in

(¢) Incomparison to hydzoEermiti
abundance
(d) Itisradioactive, efQie, can be easily

detected

(a) Hydraulic washing

(b) Froth floatation process

(¢) Electromagnetic separation
(d) Chemical separation

Helium is used in balloons instead of
because : '

o0

O

etal present with Feis:
() Cu o
oO@C o

(a) Iron O () Aluminium O
(¢ Copper Q (d) Sulphur Q
Lustrous non-metal is :

(@ N O MbP o
© S O @I Qo
The metal which is protected by its oxide layeris :
(@) Fe QO (b) Al o)
(© Ag Q (d) Au o

{95].

[96].

[97].

{98].

991

[102].

[103].

[104].

[105].

fra ¥ ¥ & ¥ yerd o faema @t Aren &
A E:

(a) =i Q (b) &=

() &a oO@dwwawsT O
fre ¥ @ frg waoT O SSrEE €

(a) NaCl O (b) NHI o
(© CH,COONa O (d) SwiF @it o)
foriw U1 T AT G R

(a) CaO,Cl O (b) CaOCl, Q
(©) CaCLH,0O Q (d) Ca0,Cl, Q
frer & ¥ Sr-wr gE O FHEAI 2 :

@) % O S S0, o]
(© 3ECO, ;

= ﬁ [ BA- & e §7?
(a) THTEE & (b) FEER 0

() Toga-gasa JUEhT
(d) TErEfTR gUERTl

. AT (He) F1 AT TR ¥ EEEIT & W
w far wrar &, w=AfE
(a) € BRSNS @ TTH © o)
(b) T% wera &l 2 0
(© TESIVE @ gEme 78 afuw faedt 21 O
d) ® Hedufea 21 o)
MW'&Fe%WF’I{Gﬁm@%:
(@ Zn O b Cu O
() Al Q ) Cr o
anngﬁ%ﬁthzﬁﬁquﬁ—gﬁﬁarﬁrwﬁ
&t argrfg #:
(a) A O (b) TEgHTaH o}
(© ®HW (A1) O (d) T o)
e Fawat o 2
@@ N O @®P 0
© S. QO (@1 0
aTe S ST ¥ SMEETES TRA GRT Wi e 8
(a) Fe O (b Al o
(c) Ag 0O (d) Au Q
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[106]. The process of depositing a layer of zinc on iron
articles is known as :_

(@ Galvanising QO (b) Polishing e
(¢) Coating QO (d) None of these Q

POLYTECHNIC ENTRANCE EXAMINATION (2014-2015) (Ui feres uawr uden (2014-2015

[106]. TSi® =Y e &1 @ W WG HEAET L

(a) eefgfor QO (b) diferw <
(c) W@ <&n O @eH =T <

[107). What type of bonding is present between a | [107]. U@ &Tq 69T JuTq ¥ Fovld & &1 amay B3
metal and non-metal ? 7
(@) Covalentbond o (a) TEEASF Y (
(b) Ionic bond o (b) raftw Fy (
(c) Coordinate bond O (c) Ya3 geagss 9y (
(d) Vander Waal Forces @) . (d) TreETeH T e
[108]. A liquid isinjected into the body due toan Ant | [108]. =<t % T AT ¥ FreRen g #:
stings is:
@ Acid O (b) Base o) (a) = w ¢
(¢) Neutral Q (d) Noneofthese = O (c) SaRA 9 8 wE
[109]. The simplest hydrocarbon is: [109]. V{eaH Q
(a) Butane QO (b) Ethane o | () =LA Q (b) TIH C
(©) Methane Q (d) Propane Q © O (d) yri= C
[110]. The gas used in the artificial ripening of fruits | [110]. Y W UEH & faw g & =
is: w2
(@) Ethane O (b) Ethene o Cfl B Q (b) gefim
(c) Ethyne O (d) Methane 0 ¢) s Q (@ e
[111). Thiokolis: |

(@) Naturalrubber O (b) Synthentic rub
(© Artificialsilk O (d) Naturalsil »\
‘Natural cellulose is polymer of : ({ '
(@ CH, o (b) C@( 0

O (d) Nén®f these o

[112].

© CgH,,05
Vinegaris a dilute soluti
(a) Acetic acid

[113).
F yrmic acid Q
Ethyl alcohol Q

[114]). Hydrocarbo in air to form:
. (@ O,+ Q () CO,+H,0 o
(0 CHEH, O d) N,+CO, o
[115]. ‘Which (ggollowing isanoblegas?
(@) Hydrogen O (b) Helium O
(c) Oxygen O (d) Nitrogen o
[116]. Which of the following is not a metalloid ?
\ (a) Boron O (b) Calcium O
() Germanium O (d) Silicon o
[117). “Law of Octaves” was proposed by :
(a) Lother-Meyer O (b) Newlands Q.
(¢} Mendeleev O (d) Dobereiner O

b@%n]. araRIe ®

(a) YPfF WE O (b) HWyalfom e ’

© Fhm tm 0 (d) wEf= M G
[112]. UTHidew Aees agere® & : ‘

(@) CH, O (b) C,H, C

(©) C,H,,0; O @smA=aE T C
[113]. et fre & R foran et faemm 2

(a) THifew s/ O (b) wifif® s ®

(©) THumd Toslew O (d) 39T Weatsd C
[114). TEGIHIET gaT A ForHT & £

(@ O,+H, O (b CO,+H,0 C

(© CH,+H, Q (d) N, +CO; G
[115]. P ¥ @ wA- Fifeea fw 22

(2) ETEgIoM O (b) Eiferam Q

() offedem O (d) Trggre Q
[116). =1 ¥ & =-w1 9 Iqaig & 2

(a) R Q (b) =fewrm O

(c) ~fram O (d) fafasm 0
[117]. ~31ea @t Traw” faar ar:

(a) WeR-TR O (b) &l o

() Heeta O (d) SHEUER 0
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[118].
[119].
[120].

[121].

[122].

[123].

[124].

[125].

[126].

(127]

{128].

(129].

Which element has the highest ionization energy :
(@) Ar O () Ne 0
(©) He O d) Kr 0 1
Which has greatest radius of the following:

(@ H” Q (b F Q
(© I Q@I _ Q
Which of the following has highest electronegativity:
@ C. O (b) Mg o
© O QS Q
Gastric juice contains digestive enzyme:

(a) Trypsin O (b) Pepsin o
(c) Gastric Lipase O (d) Both(b)and(c) Q
Chloroplasts are found in :

(a) Palisacle cell O
(b) Cutricle layer Q
(¢)" Spongy cell o
(d) None of these Q
The transport medium in human bemgs is:

(a) Blood 0
(by Lymph Q
(c) BothBlood and Lymph 0]
(d) None of these o

Vitamin needed to cure night blindness a
Xerophthalmia:

(@ A Q () D x
(© E O @K &
The colour of lymph is: A\,

(a) Red ) Bl

(© Yellow ( t
The pigment which a ss ar energyis:

(a) Carotenoids ) Xhlorophyll o
{c) Both of the & None of these Q

.. Which nerv eimpulse to the spinal cord :

(@ Reﬂ@n Q (b) Reflexarc O
{¢) Moto O (d) Sensorynerves QO
Master gland in human body is:

(@) Thyroid O
(b) Adrenal gland Q
(c) Parathyroid gland o
(d) Pituitary gland o

Movement of mimosa plant is an example of :
O (b) Phototropism O
Q (d) Nastic movements O

(a) Tropism
(¢) Geotropism

[118].

- [119].

[120].

[121].

[122].

[123].

24].

[125].

[126].

[127].

[128].

[129].

frer o/ Frw aa =t afuman amaeE oot €

(@) Ar O (b) Ne o)
(© He Q @ Kr o)
fre o weq atfues o fewent 2
@ H O () F Q
© I O@r o]
frer ¥ ¥ fonmat Taea ToTetehar wed ofus 8
(@ C O (b) Mg Q
© O Q@S Qo
ST @ ¥ e FTR QU T #
o)
o)
o)
o)
0
o)
o= T wTeAy €
(a : - Q
o)
o TEHT S Q
d) 78 ¥ = T o)

it & SRt @ S w0 & A sravaw
farzThir:

(@) A O (D @)
© E O @ K o
T W CT AT e .
(a) == O (b) tem Q
(c) drem O (d) 9% @]
dr ool sravifya &0 aren quiw ¢

(@) AT O (b) FRIfEE Q
SR o @deFiawET O
forg wfeT gRT guaTd A6t @ uged ¢
() st fbm O (b) wfeeeft =m0 Q
© I A Q (d) wa=t dfsem o)
ey W e ufa §:

(a) gmEiag af= Q
(b) e ufa Q
(o) YuumRiTE af o)
d) faeged afa Q
i 4 & WY = e S R

(a) TIad O (b) THMIIET Q
(© TEEEER O (d) g MeE O
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[130). The male reproductive organs in plants are :
(@) Sepals Q (b) Stamens
(¢) Petals Q (d) Carpel

Regeneration is a type of :
(@) Sexual reproduction

(b) Asexual reproduction
(c) Vegetative propagation
(d) Fertilisation

(OJN®)

[131].

0000

[132]. Fora female human being:
(@ 44 +XX Q (b) 44 + XY @)
(©) 44 + XXY Q (d) 44+YY @)

Sex chromosomes are the chromosomes which
determine:

(a) The sex of female
(b) The sex of male
(c) The sex of the individual
(d) None of these
Chromosomes are made up of :
(a) DNA and Protein
" (b) DNA and RNA

() DNA only

(d) RNA only

Duckbilled paltypus is a link between :

[133].

0000

[134].

0000

[135].

(a) Birds and reptiles @g

(b) Birds and mammals
(c) Reptiles and mammals-
(d) None of these

Insert Articles wherey, g)ary ¥ :
[136]. He is L gm Bengaluru School of
Law. ‘
(@) an QO ) to o
© the O (d) of o
[137]. A is worth two in bush.
(@) @ QO () to Q
(c) the Q () of 0]
{138]. Is Scotland European country ?
(@ a ‘ O (b) an Q
(c) the O (@) of @]

Out of four meanings provided as alternatives,
choose the word nearest in meaning for the given word.
[139]. Solitary:

(a) Crowded
(c) Lonely

Q (b) Solid

o
O (d) Strong Q

[130]. tﬁsﬁﬁwmm%

(a) sEE= O (b) THhW
© et O (d) =9
[131]. QS foT W &1 &9 2
(a) &firw =
() sfrs s
(c) ®rd® yayq
(d) frs=m
[132]. U= wer Aysw & fau:
(@) 44 + XX Q (b) 44 + XY ‘
© 44 + XXY O (d) 44 + YY <

[133]. f&n ToTgE @ U S

(a)marmfa‘w ? '
b) W= fa @ ¥ |
(C)W fruffa =@ 2 (

(d) '
[134].
T T ® 9w R
@ ATAIRNA # 59 g 21

%9d DNA & €3 g 21
(d)a%aaRNAas‘a-}ﬁﬁ%
[135]. Thface WdTw firr @ ¥ foras wem warw

(
(
(
(

=gt 2

(a) wfEm oo wdeal (

(b) wiart ©& wHwfEy (

(¢ =Tt & et C

d) ¥ 7/ % 78 (
[140]. Vigilant:

(@) Watchful Q (b) Careless C

(c) Lively Q (d) Enthusiastic C
[141]. Paucity:

(@) Shortage Q (b) Plenty C

(¢) Careful O (d) Talented C

Out of four meanings provided as alternatives
choose the word farthest (opposnte) in meaning for the
given word.

[142]. Immortal:

(@) Confusing O (b) Long-lasting C

(¢) Short-lived Q (d) Perenial C
[143]. Liberty:

(a) Freedom O (b) Independent C

(¢) Forceful Q (d) Slavery 5
[144]. Generous:

(a) Kind O (b) Hearty C

() Miserly O (d) Angry C
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i 15 |
Choose the correct ‘Passive’ in the given alternative (b) The door should be shut. Q
for the sentence in question. (¢) Letthe door be shut. Q
{145]. Hedidn’tlisten tome: (d) Let the door be closed. Q
(a) Tamnot hs.tened ooy h1r'n. < Choose the correct Preposition :
(b) Iwasnot listened to by him. Q . . Lo
) Tdidn Hster to i, o [148]. He wa-s disgusted his failure.

(d) Iwas listening to him. O (2) with Q@ for 2
[146]. Can you cut the wire ? © ?t . © @ in . |
(a) Can the wire be cut by you ? o [149]. Sheistheonlyheir _____this property.

(b) Can the wire be cutted by you ? o (@) ?t o 1) an 2
(¢) Can the wire cutby you? o @ in e O @ to L. “
(d) Can wire be cutting by you ? o [150]. The candidate is confident his skills.
{147]). Shutthe door: el 6t ek ) o
{a} The door is shut. Q @ on O (g8 @
ANSWERS o S
. © 2. (b) 3. (b) 4. (b) 5. (a) 6.(a 7. (a) b) 9. (¢ 10. (b)
L@ 12.(@ 13. () 14. (@) 15.(d) 16. (b)) 17.(a (@ 19. (@)  20. (b)
.(© 22.(c) 23.(b) 24.(a) 25.(c) 26.(a) 27 .(©)  29.(b)  30.(a)
(@ 32.() 33 () 34.(b) 35.(d) 36.(© 3 38.(a) 39. ()  40. (a)
. (©) 42. (b) 43. (d) 44. (¢) 45. (b) 46. (a) 47 c 48. (a) 49. (a) 50. (b)
. (b) 52. (¢) §3. (b) 54. (¢ 55. (c) 56. {d) (d) ' 58. (d) §9. (a) 60. (a)
. {a) 62. (b) 63. (d) 64. (d) 65. (a) 67. (b) 68. (b) 69. (d) 70. (b)
L€ T2.(@  73.(d) 74. (©) 75.‘(d) b) 77. () 78. (b) 79. (b) 80. (d)
.{c) 82 (d) 83 (d) 84. (a) 87. (d)  88. (b) 89. (c) 90. (c)
() 92.(¢) 93. (0 94. (a) 95 & (a) 97. (o)  98. (c) 99. (a)  100. (b)
.(b) 102. (d) 103.(c) 104. (d) 1(% 106. (a) 107. (b) 108. (a) 109. (c) . 110. (b)
.(b) 112. (© M3.(a) 114. (b) 116. () 117. (o) 118.(c) 119. (d) 120. (¢
.(d) 122. @ 123. (¢ (©) 126. (c) 127.(d) 128.(d) 129.(d) 130. (b)
.(b) 132. (@) 133. (0 35. (c) 136. (a) 137.(c) 138.(a) 139.(c) 140. (a)
. (@ 142. () 143. (d) 145. (b) 146. () 147. (c) 148.(a) 149.(d) 150. (a)
—

[1l.

3L

0.57'=0.5757
100x = 57.5(57 ...
100x = 57.

99x=57 = x=

x - 1is a factor

| forx=1, ¥ -k=0

= 1-k=0 .. k=

1

Greatest possible length will be their H.C.F.

HCPF =

. _e_-
. aB+By+ya—a— 1

a4+ Py +ya=

7m

-1

-1

0.57 = 0.575757...=
100x = 57.5757...

100x =57.57 =57 + x
9x=57 = x=gr-=%3

Bl x-1TF @ 2
Lox=1® fag, ¥-k=0
= 1-k=0 .. k=1

[4]. =<t @ St geAIfag =6 AT
: AEY. =7 H.

. e Zt__
[51. ; aB+By+ya_.a_ = 1
L oB+Py+ya=-1




1o

[6}.

[71.

(8l

(10].

[11].

{12].

[13].
[14].

[15).

[16].

POLYTECHNIC ENTRANCE EXAMINATION (2014-2015) (uffdfeman wargr wdtar (2014

3*¥=9 = 3*Y=32

> x-y=2
and 3**Y =81 = 3**¥=3%
= x+y=4, y=1

Let the price of a chair =x
and price of a table = y
Then solve the equations
3x + 2y =700, 5x + 3y = 1100

Equation a;x + by +c; =0and ayx + by +¢,=0

- have infinite solutions

4 _h_a 235
a b, ¢ 4 k 10
=.k=6
Unique solution if
o b o
4 by ¢
g §¢% = k¢-21—x3
= k#6
b*—4ac<0
16-4p<0
= p<4 [Ans].

Forequal roots D=0
. 4(k+2)*-36k=0

S

Product of the roots = % @
x? -6x-4
= x% -10x + 4x =]
x(x —10) + 4( =0

= (x - 4)=0
Sox

{Ans.]

= 1 roots

—~4d4c =0
= dac = b*

= k> -5k+4=0
= (k-4)(k-1)=0
s k=4, k=1 [Ans.]

D

bZ
= ¢ = — [Ans.]
4q

2m+1,m+1,-m+ 3 arein A.P. then
2m+1-m+3
2
m+4
2
= 2m+2 =m+4
=>2m+2-m =4
=5 m

m+1=

m+1l =

4-2=2 [Ans.]

(6]

71

[8].

[10].

[11
PN

%)

{13].
[14].

{15].

[16].

37V =9 = 3*7Y =32

= x-y=2
3k 3**Y =81 = 3**¥ =34
= x+y=4, y=1

O TF HA H R = x

3R TF B H F =y

A gt 3x + 2y = 700 3R 5x + 3y -
i T R

T a,x + by +¢; = 0 3y + by + ¢,

=1 Tel @ foag g ey
4 b e 2.3 5
a, by ¢ 4 k 10
= k=6
WWWV

a b

Ei_¢i¢cz

% k¢—%x3
= k#6
—4ac<0
16-4p<0
=5 p<4 [STH]
TR e & fe D=0
" 4(k+2)? -36k=0
k% -5k+4=0
= (k-4)(k-1)=0
L k=4, k=1 [SW]
tm’fmvpﬁw:%:
x2-6x-40=0
= x2-10x+4x-40=0
x(x-10) + 4(x -~ 10) =0

=

=]

|~

=5 (x-10)(x+4)=0
s x=10, -4 [I9X]
H q@ & fe D=0
. b*—4dac =0
= dac = b*
b? .
= ¢ =2 [3]
4q
Im+1,m+1,—m+3TA=R Aot ¥ R q
2m+1-m+3
m+l = ——
2
1_m+4
m+l=—
=5 2m+2 =m+4
=>2m+2-m =4
= m = 4-2=2 [3™]
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[17].

{18].

[19].

[20].

[21].

[23].

[25]. AB

8, = %[2u+(n 1)d]
nnatural number1,2,3,...,n

a=1,d=2-1=1

n n
Sn =E[2+(n-—l)1] = E(2+Tl—1)

S, = %(n+1) [Ans.]

a+b
Arithmetic mean= ——

2
5-15 _10

AM. = 5 =—2—-=—5 [Ans.]

Write value of sin 30° = %_— and cos90° =0

1 1
E) =t [Ans.]

cos B = ,ll—sinze

2 2 2
L e s
n n n

sin? 30° = sinz(

sin 0
cos 6

n
© tan @ = = 11'—=m [Ans.]
n
PQ is height of man.
AP is shadow.
ZPAQ is angle of elevation and
PQ=AP

P
Hence ZPAQ = tan 8= PQ =

AP
.. ZPAQ=145°
ZQAP = ZMQA

oo

= J106
AC = |(-2-7)? +(5-10)
= V106
BC = |/(3-7)% +(~4~10)*

= 4212
. Hence itis a right angled triangle. [Ans.]

B(3, —4)

C(7,10)

= J8T+25

= /16 +19%

[17].

[18].

[19].

[20].

[23].

[25].

N - 30°

S, = %[2a +(n-1)d]

n IEHfaE §ead 1,2,3, .., 1
a=1,d=2-1=1

n n
Sn = 2—[2+(Tl—1)1] = 5(24‘1’!—1)
5, = g(n+1) [F¥R]

a+b

GHI-X HIE = 5

ZPAQ 3= &0l § 3R PQ = AP
pQ A P

:. ZPAQ = tan 8 ===

. LPAQ =45° [3{]
LQAP=/ZMQA 30°

Qp

AP

50 1

=1

= tan 30° 50

_ AP /3 ' A P
= AP =503 [

AB = [(2-3)? +(5+4)

_ JBVE
= 106 B(3, —4)
= J(-2-7)? +(5-10)*
- fi75
= V106

BC = /(3-7)? +(~4-10)* =
= V312 '

A(=2, 5)

C(7. 10)

16 +196

. ATHET e ® (3R]



'I:. POLYTECHNIC ENTRANCE EXAMINATION (2014-2015) (e s war witen (2014-2015

[26].

(27].

[28].

(29].

{31].

[331.

[34].

[36].

[391.

(-1, a) (5, 5)

A B

% 10 >

AB = [(-1-5)® +(9-5)
10 = ,/(=6)% +(9 - 5)?
On squaring both sides
100 = 36 +a° +25- 10
a*-10a-39 =0

@-13a+3a-39 =0
a(a—-13)+3(@-13) =0
(a+3)(@a-13)

a

0
-3 or 13 [Ans.]

BD = ,[(50)2 - (30)% =40

DC = [(34)7 - (30)% =16
BC = 40+16 =56 [Ans.]

(-1, a) (5,5)
A B

< 10 >

[26].

AB = J(-1-5)* +(9-5)°

10 = J(-6)* +(9-5)2
LR TWE o FA ® .
100 =36 +4° +25-10a
a*-10a-39 =0
a*-13a+3a-39 =0
a(a-13)+3(@-13)=0 -
(@a+3)@-13) = 0

or 13 [B¥X]

Let PQ be the wall=20 m Q Q
AP be the horizontal distance = 15m s
AQ =Length of ladder \.}p 20m 20"
= [(20)* +(15)2 G
15 =
= JA00+225 AR = J300+225 A s P
= /625 =25m [Ans.] é‘ = /625 =254 [39T]
BD = % AC ‘ ¢ | [29]. BD = %AC
Since AD =DC=BD & Since AD =DC=BD
1
= l X 4 x = E x 4
2 A B
=2¢ 1 =2 |l [3W]
The angle is half t f centre of a circle Bl IO FR g R FUNII VT &
. 110 FT YT BT B
ie, x= [Ans.]
st x = B =55° e
Inri Qtriangle AAOC, [33]. wW&IT AAOCH,
AR g0? -0C? =52 -32=25-9=16 AC? =A0? —0C?=52-32=-25-9=16
AC=416 =4, AB=2x4=8cm [Ans.] AC=+16=4, AB=2x 4 =8 ot [3W]
In a quadrilateral the sum of opposite angles are | [34]. &% TS + HIUH T AT 180° BT 3
180°. [Ans.] .. 180° [3=]
PT? =PAxPB (36]. PT?> =PAx PB
=16x4 =16x%x4
=64 =64
PT = 8cm [Ans.} -PT= 8cm [S7]
Area of triangle = % x Base x Altitude [39. fasqe =1 SIFA = % x SMYR x T
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__£0

{40].

41].

[42].

[43].

[44].

{45].

[46].

[47].

[48].

[49].

{50].

| =

= = x 12 x Altitude = 48
Ititude = 8 cm [Ans.]

Area = 1—2292 =600,

I
P oo

Area =1xb=600

Breadth = —6:%) =20m [Ans.]
2. 3 2
A a
2
= = 4:43 [Ans.]
V3 2
4

Length + Breadth = % x 200 = 100

Now, b =40m .. L=100-40=60m
. Area=1Ixb=60 x 40 = 2400 m> [Ans.]
Circumference = nD = *252- X {T =2m [43].
-, Number of rounds = 4x ;000 =2000 [Ans.]
Length of longest rod [44].

= JIE+b2 +h2

= J6? +6% +3% = /81 =9m [Ans.] @
Edge = 549 =10 cm x [45].
- Volume = 4° = 10° = 1000 cm® x :
Number of cubes & [46].

— Volume of bigger ¢

" Volume of sma

8x8x8 ;

aF ™ Pk |

As number of t [471.
Median 3rd and 4th term
9 +40 .
= =} = 9.5 [Ans.]
.+ Mode =3 x Median-2 x Mean [48].
=3x34-2x32
=102 - 64 =38 [Ans.]
On tossing the coin, all possible outcomes =2 [49].
Possible outcomes on getting head = 1
P(E) = %_— [Ans.]‘

Total number of students = 12 [50].

Number of girls = Favourable events =7

[40].

[41].

[42].

%xuxfaré:zxs

=% R =8cm [37]
gAHe = 1‘2200 = 600,
&FT = TS x WIS = 600
aﬁ@é:ég)%o—ﬂorﬁ. [S¥)

4 x 1000

= 6% +6% +3% = J81 =9 [3¥T]
W:%Qzloﬁ ‘
;. 3 = a° = 10° = 1000 ¥’
i H we
oS ¥ w] A
© SR w1 s
8x8x8 ’
= 2x2x2
FifE TEmet ® e 62
Hfersr = At 7 =l gemet w1 iy

=64 [3¥]

9+10 19
=—g— =5 =85 [3™]
TEAH = 3 x AR - 2 x HE
© 3x34-2x32

, =102 - 64 = 38 [3TH]

foga & IR W FHA TS FH HE&T =2

foas =1 3o ¥ W o & Fgea =1
P(E):% E3i0d ]

e o o faeneff =12

wgfeal &1 & =7




P(E) = 1—72- [Ans.]

[56]. - Poweroflens (P) = }—(—111'1mc)—m)

= l% =2 Diopter [Ans.]

[62]. Electrical potential

w
V=9
W=QV
=0.5 Coulomb x 20 Volt
= W =10 Joule [Ans.]

For electroplating d.c. is required.
v

{64].

[68]. Electricpower P

=5 R

‘R
V2
P
400 x 400
100
R =1600 Q [Ans.]
30 x 60
Re =355%0

1800
90

= R =

[70).

= Rp = =200
. |4
. Electric current, I = R

=

{71].

and

[93].
substance is oxidised and other is reduced.
[94].
but it help to get equilibrium.
NaCl + H,O—— NaOH + HCl

NaOH.HCl both are strong base and strong acid.
Hence NaCl is a neutral solution.

[961.

[110]. Ethene gas is used in the artificial ripening of

fruits.

Helium (He) has highest ionization energy as it
has stable electronic configuration and small size.

[118].

= Q(.E. = L .
! ) m .
Redo ction is a reaction in which one

Catalyst does not disturb the equilibrium point

[56].

(621

[64].

[68].

= P
‘i‘: 400 x 400
Rz —

[71].

[93].

[94].

[96].

[110].

[118].
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P(E):{—z— Eaud|
|9 &t wfw (P) = 1—?,9 (| ®)
100
= o=2 TAR [3TR]

100

R =1600Q [3¥1]
_30x60
P T 30+60
-+ Ry = 282 g
1%
ﬁmqml_i—
P
= 1=2%=0.1EF0W[W]
wfas e KE =%mv2
g Han P =mv
2 2.2
et s KE. = 270 = Lim0
m 2 m
1 p?
= KE. =5 [3¥7]

e srfufwan =€ afufear ® foed & agied =
rerdtaoT B € A SRR W g=ad g R
A w1 G fag W g9E @ Tew @ &t
IEE W 95 F 9w wW H vl y&E s
NaCl + H,0— NaOH + HCI :
NaOH & HCI 94t Y9 &R iR Jaa & 81 374
NaCl t& 3grits faeas g

Fal B FHM T W THFR F i A FHIw g
21 o .

ferm w1 fer 3 S 9 AR B B9 &
w0 Afuwan rETE oot 21






